
This page was exported from - Free Exams Dumps Materials 
Export date: Thu Nov 21 15:31:34 2024 / +0000  GMT

Valid HCIE-Data Center H13-431 Dumps Ensure Your Passing [Q93-Q116

	 

 

 

Valid HCIE-Data Center H13-431 Dumps Ensure Your Passing

H13-431 Dumps Real Exam Questions Test Engine Dumps Training

NEW QUESTION 93

The following is about the description of VAS device deployment in Huawei Cloud Data Center, which is correct? (Multiple choice)

*  When the hardware FW is connected to the centralized gateway, the gateway traffic can be selectively directed to the firewall, that

is, the traffic that needs to be detected by security is directed to the firewall for processing.

*  When the hardware FW/LB is connected to the centralized gateway, all north-south traffic will pass through the firewall, which

wastes the interface bandwidth and increases the network fault point. It is more troublesome to expand or rebuild later.

*  When the service leaf is attached to the hardware or software FW/hardware LB, the FW and LB are easy to expand, but the

north-south traffic will bypass.

*  When the centralized hardware gateway is connected to the VAS device, you need to manually configure the traffic diversion

mode on CE.

NEW QUESTION 94

The following is the technical route of SDN, which is the correct description? (Multiple Choice)
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*  OpenFlow route developed by the traditional laboratory program

*  Virtual Overlay route represented by VM ware

*  Integrated controller route represented by traditional CT manufacturers

*  NFV route represented by operators

NEW QUESTION 95

In the Huawei FusionSphere solution, which of the following description about the complete migration of virtual machines is

correct?

*  Support for VM migration on virtualized and non-virtualized storages.

*  Only migration between virtualized storage is supported.

*  It is not possible to migrate across clusters.

*  Graphics processors and USB devices have little effect on migration.

NEW QUESTION 96

In the following Huawei SDN solution, which description is wrong about of the control plane of three Overlay networks?

*  In Network Overlay networking, self-learning through devices L2/L3 or BGP-EVPN synchronization between devices.

*  On the Host Overlay network, the vSwitch reports the ARP to the controller through OpenFlow and the controller L2/L3 learning.

*  In the Host Overlay networking, the self-learning is broadcasted through the head-end replication through the inter-device L2.

*  In the Hybrid Overlay network, the hardware NVE and vSwfch NVE are synchronized by the BGP-EVPN of the controller.

NEW QUESTION 97

In the Huawei Cloud Data Center, WAF devices provide protection against Web applications and provide protection services for

Web applications.

*  True

*  False

NEW QUESTION 98

FusionCloud App Application Orchestration Service provides one-click application deployment and elastic scalability.

*  TRUE

*  FALSE

NEW QUESTION 99

Software-defined network technology has become a key technology to promote IT agility after software-defined computing and

software-defined storage.

*  True

*  False

NEW QUESTION 100

The following is about the intelligent operation and maintenance of Huawei cloud data center SDN solution. Which is the correct

description? (Multiple Choice)

*  Layer 2 loop detection

*  Unified management of network resources

*  Business path visible

*  ARP business pickup
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NEW QUESTION 101

Cloud network integration business process, which of the following description is wrong?

*  The cloud platform creates a VXLAN type network through Neutron.

*  Nova notifies Neutron to create a virtual machine port when creating a virtual machine instance.

*  The virtual machine port is bound to the OVS bridge and encapsulates the VXLAN VNI.

*  The AC-DCN discovers the location of the virtual machine through LLDP, and implements the logical port to go online.

NEW QUESTION 102

What is the backup networking method that can maximize use the current resources of the enterprise?

*  LAN-Free

*  LAN-Base

*  Server-Free

*  Server-Base

NEW QUESTION 103

In the following Huawei Cloud Data Center, the SFC service chain terminology in both English and Chinese, which is correct?

(Multiple choice)

*  Service node &#8211; SC

*  Service Chain Forwarding Node &#8211; SFF

*  Classifier &#8211; SF

*  Service Chain Path &#8211; SFP

NEW QUESTION 104

In the cloud data center scenario, which of the following description about the thin disk is correct? (Multiple Choice)

*  Thin disk performance is reduced compared to regular disks, but it saves space.

*  Thin disk will preempt space for the disk at the file system level, ensuring that there is always space available for that disk.

*  The disk created on the FusionStorage datastore is in compact disk mode.

*  Create a thin disk with a capacity of 100G. If there is not enough storage space, the thin disk will not be written.

NEW QUESTION 105

The cloud network uses OVS as a software switch to connect to the Leaf.Which of the following OVS bridges in FusionSphere

OpenStack completes the encapsulation of tenant traffic VLANs?

*  br-1

*  br-tun

*  ply-br

*  br-cps

NEW QUESTION 106

If a VPC in a Huawei ManageOne Converged Resource Pool scenario uses a routed network, which of the following options is not a

prerequisite?

*  Manually configure gateways and routes on physical devices

*  The switch allows VLANs to pass

*  VPC has applied for a router
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*  An external network has been created and the port network is configured

NEW QUESTION 107

In the active/standby disaster recovery deployment, if centralized deployment is adopted, you need to deploy the eReplication Server

on the servers in the production center and the disaster recovery center respectively to implement disaster recovery management for

the resources of the central site.

*  True

*  False

NEW QUESTION 108

The storage capacity required by Site A is 2543 GB, and the storage capacity required by Site B is 3000 GB. The backup data of Site

B is remotely copied to Site A and saved. It is considered for copy compression. The compression ratio is 3. What is the backend

storage capacity required by Site A?

*  3543GB

*  4644GB

*  3865GB

*  4549GB

NEW QUESTION 109

Which of following description about the current security threats in the data center is correct? (Multiple Choices)

*  The border network is vulnerable to attack

*  Operation and maintenance management cannot be associated with analyzing massive data and attack events

*  The application server may be paralyzed by a traffic attack

*  VM may be invaded

NEW QUESTION 110

SDN cloud network integration scenario, by default, which of the following traffic needs to go through the firewall? (Multiple

Choice)

*  Traffic between different VDCs

*  Traffic between different security groups

*  Traffic between different VPCs

*  Traffic between different routed networks

NEW QUESTION 111

The following is about the FusionCloud architecture, which is part of it? (Multiple choice)

*  Infrastructure layer

*  Service domain

*  Administrative domain

*  Business domain

NEW QUESTION 112

In the Huawei SDN solution, ahout the reliability analysis of the Network Overlay centralized gateway (CE12800 as the gateway

role), which description of following is incorrect?

*  Stand-alone/stacking devices independently make VXLAN gateways. Specifications: 4K tenants, high reliability.
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*  Gateway multiple-active deployment, with the same gateway address and different tunnel endpoint addresses.

*  Multiple sets of multiple-active gateways are deployed to add independent gateway devices, but the forwarding capacity and

reliability within a single set of gateways are unchanged.

*  Two independent devices establish VRRP groups and have independent tunnel endpoint addresses with high reliability.

NEW QUESTION 113

The following description about FusionCloud&#8217;s business, which is wrong?

*  Self-service cloud service

*  Cloud hard disk

*  Big data service

*  Standard OpenStack interface

NEW QUESTION 114

The following is about Huawei&#8217;s FusionCloud solution, which is the correct description?

*  The infrastructure layer only includes the physical facilities such as servers and storage required to build a data center.

*  FusionCloud provides resource pool management capabilities, only for FusionSphere products.

*  The service domain is based on the operation and operation and maintenance capabilities provided by the management layer,

matches the business scenario, and implements the first-level operational service of the resource through the service catalog.

*  Based on the services provided by FusionCloud, build the user&#8217;s business system to meet customer business needs.

NEW QUESTION 115

The following is the description of the eBackup feature of Huawei backup products, which is incorrect?

*  In addition to the first full backup, the rest of the backup of eBackup is an incremental backup.

*  eBackup intelligent backup can specify the backup VM in units of containers. The newly added VMs in the container are

automatically found during the backup; the containers can be clusters, data storage, and so on.

*  eBackup supports LAN-Free backup and recovery. However, eBackup is required to be deployed on a physical server and

requires good network plane planning.

*  eBackup is positioned as a virtualized backup, so data recovery at file level granularity or virtual machine disk granularity cannot

be achieved.

NEW QUESTION 116

Which modules do the FusionStorage VBS modules need to pass during 10 processing? (Multiple choice)

*  SCSI

*  VBP

*  CLINT

*  DATAN ET
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